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01. Modernisation implies mobility which may be of any kind except 

(a) Physical mobility. 

(b) Social mobility. 

(c) Scientific mobility. 

(d) Psychic mobility. 

02. Which is not characteristic of modernisation? 

(a) Religious faith 

(b) Participation 

(c) Empathy. 

(d) Mobility. 

03. Which article of the Indian Constitution proclaims that “untouchability is 

abolished”? 

(a) Article 17 

(b) Article 14 

(c) Article 16 

(d) Article 46. 

04. What is not involved in leadership? 

(a) The supremacy based on personality cult 

(b) Understanding based on co-operation 

(c) The goal motivation and role achievement 

(d) Maintenance of group norms and values. 

05. Which among the following is the advantage that does not come to the followers 

under a specific leadership? 

(a) The goal achievement satisfaction 

(b) It saves the group from the difficulties of taking decisions 
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(c) The difficulties that may result by the risk of failure. 

(d) The advantage of getting an all round leader and guide. 

06. Mark out the reason that made Jawaharlal a great leader. 

(a) His parentage. 

(b) His brahmanical heritage. 

(c) His leadership of the Congress. 

(d) His personal qualities 

07. In India, education is the responsibility of 

(a) Central Government. 

(b) State Government. 

(c) Both of them. 

(d) None of these. 

08. Which institution has maximum control over education? 

(a) Family 

(b) State 

(c) Religion 

(d) Economy. 

09. The future of education in India depends on 

(a) Government. 

(b) Society. 

(c) Family. 

(d) Economy. 

10. Who gives the system of education in India? 

(a) Family 

(b) Society 



(c) State 

(d) Economy. 


